. VMiemory Based Paper
MP Patwari 18th Mar, 2023

Shift 1 & 2 Mixed




200 Questions

Que. 1 If Aman alone can do a work in 5 days, Sagar alone can do the work in 10 days and Satish alone can do the work
in 15 days, then in how many days will they complete 11 such works?

1. 27 days
2. 29 days
3. 30 days
4. 28 days

Correct Option - 3

Que. 2 A person travels from P to Q at a speed of 50 km/h and returns by increasing his speed by 60%. What is his
average speed for both the trips?

1. 35.61 km/h
2. 61.53 km/h
3. 31.56 km/h
4. 16.53 km/h

Correct Option - 2

Que.3 FHRIEd d I '3wR o1 TURIAE Usg B 1 22

1. 34
2. gHd
3. PR
4, IR

Correct Option - 4

Que. 4 fgffad & -9 §g AN BT 380 78l 82

L. afe
2. AP
3. yfa-feA
4. Y-SR

Correct Option - 3

Que. 5 Khadaris
1. A crop
2. New alluvial soil
3. OIld alluvial soil
4. Type of laterite soil
Correct Option - 2

Que. 6 ¢ T Fhd RI § Tg, W U e W S s g - ufaa H R
1. 3ifdd SddpR
2. ggifad SddR
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3. goifad dHR
4. Iffaerifad rAHR

Correct Option - 4

Que. 7 Directions: Select the correct indirect form of the given sentence.
The prosecutor said to the watchman, “Were you present at the crime scene?”
The prosecutor asked the watchman that you were present at the crime scene.

The prosecutor said to the watchman were you present at the crime scene?

bl e

The prosecutor asked the watchman that if you were present at the crime scene.
4. The prosecutor asked the watchman if he had been present at the crime scene.

Correct Option - 4

Que. 8 3G Roq T T HIfoTL-
L. gurEr

2. qigd
3. dradd
4. gifcare

Correct Option - 4

Que. 9 Radha invested 60% more than Geeta and Seeta invested 20% more than Geeta. If ratio of investment time-
period (Radha : Geeta : Seeta) is 2: 4: 3 and the sum of profit shares of Geeta and Seeta is Rs. 8550 then find the
profit share of Radha.

1. Rs.5000
2. Rs.3600
3. Rs.4400
4. Rs.3200

Correct Option - 2

Que. 10 o Y Y Heifdd 2eg &-
1. o
2. WrTd
3. wef§
4. Sy

Correct Option - 4

Que. 11  IH & ¥ FERII T HH & T &1 W36
T3 T G Yfer 713, PP I8 Ud TR AT | | Ufed H SH-a1 39 82

L. g
2. R
3. Q™
4. HSUIIY

Correct Option - 2
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Que. 12 Ifz + % = 2, then the value of z* + j =

1. 0
2. 2
3. -1
4. 1

Correct Option - 2

Que. 13 FTATANH N IYE UL @ -

I IRES
2. qaied
3. gulged
4. gRale

Correct Option - 2

Que. 14 Directions: Select the wrongly spelt word.
1. Popularly
2. Beggarly
3. Sincearly
4. Jocularly
Correct Option - 3

Que. 15 S8 J P Teq A<} BT TATAT! 61 6-

L. 3o
2. e
3. gier
4 R

Correct Option - 2

Que. 16 T[g Vog I TYT P |

I srggd
2. g
3. SRR
4.‘3@%

Correct Option - 3

Que. 17 g H Y Y I DI AT 82
1. 3 A 89 ¥ O forgan|
2. IS ¥ gHY o feraman|
3. 3HUP & gHY o feraamn|
4. HUS A gH A9 feramn|

Correct Option - 1
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Que. 18 A mixture of fog contains water and air in the ratio 5 : 3. On adding 8 liters of air, the ratio of water and air
becomes 1 : 1. The quantity of water in the original fog is:

1. 25 liters
2. 16 litres
3. 20 litres
4. 30 liters

Correct Option - 3

Que. 19 B PHT IRIATE TG & -
L faw

2. O
3wy
4. §&

Correct Option - 2

Que. 20 What is the meaning of Per Capita Income?
1. NNP x Population
2. NNP =+ Population
3. Population + NNP
4. Total Capital + NNP
Correct Option - 2

Que. 21 A conical tent of canvas is to be made whose radius of the base is 14 m and its height is 48 m. How many
metres of canvas will be required, if the width of the canvas is 8 m?

1. 275
2. 220
3. 264
4. 257

Correct Option - 1

Que. 22 In which year was the Central Province formed?

1. 1861
2. 1863
3. 1862
4. 1860

Correct Option - 1

Que. 23 Direction: Fill in the blank with the correct answer:
He the ground before the match started.
1. had cleaned
2. has cleaned
3. iscleaning
4. none of these
Correct Option - 1
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Que. 24 The given pie chart shows the marks scored by a student in different subjects- Hindi, English, Maths, Science,
social science in an exam. The values are given in degree and the total marks are 900.

Scienca
English Hindi
[ social Science

What are the marks obtained by the student in Hindi?

1. 225
2. 200
3. 175
4. 1625

Correct Option - 3

Que. 25 In the question a sentence has been given in active/passive voice. Out of the given four alternatives,
suggest the one which best expresses the given sentence in passive/active voice.

What was he practising in the auditorium?

1. What was practised by him in the auditorium?

2. What is being practises by him in the auditorium?

3. What is practised by him in the auditorium?

4.  What was being practised by him in the auditorium?
Correct Option - 4

Que. 26 Select the most appropriate synonym of the given word.
Monotonous
1. Boring
2. Compulsory
3. Eventful
4.  Momentous

Correct Option - 1

Que. 27 A ladder 20 m long is placed against a wall so that the foot of the ladder is 10 m from the wall. The angle of
inclination of the ladder to the horizontal will be:

1. 30°
2. 45°

Page- 5



3. 60°
4., 75°
Correct Option - 3

Que. 28 Simple interest on a certain sum of money at the rate of 5% per annum for 4 years is Rs. 800. What will be the
compound interest on the same sum for the same period and at the same rate of interest?

1. 850
2. 840
3. 855
4. 862

Correct Option - 4

Que. 29 Select the most appropriate meaning of the given idiom.
At loose ends

Do something slowly

In an uncertain situation

hall s

In a certain situation
4.  Cruel and violent
Correct Option - 2

Que. 30 A box contains 4 white, 5 red and 6 yellow balls. A ball is drawn at random from the box. What is the
probability that the ball drawn is either white or red?

wonp o~

4,

wlon aee oo oo

Correct Option - 3

Que. 31 Which National Park in Madhya Pradesh has the highest number of Tiger population?
1. Kanha Kisli National Park
2. Bandhavgarh National Park
3. Pench National Park
4. Panna National Park
Correct Option - 1

Que. 32  World Day Against Trafficking in Persons is observed on which of the following day every year?
1. 28th July

2. 29th July
3. 30th July
4. 25th July

Correct Option - 3

Que. 33 Who was the court poet of Chalukyan ruler Pulakeshin I1?
1. Kalidasa
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2. Banabhatta

3. Shyam kirti

4. Ravikirti
Correct Option - 4

Que. 34 g1 WR SHGIARTH B! AT & HH R S+ gl al [ I &1 U faba i 82

L o g
2. 3[R
3. guifoRm
4. HED

Correct Option - 2

Que. 35 Madhya Pradesh is the

1. Second largest

2. Largest

3. Third largest

4. Fifth largest
Correct Option - 4

state by population in India.

Que. 36 In the following question, one part of the sentence may have an error. Find out which part of the sentence
has an error and click the button corresponding to it. If the sentence is free from error, click the "No

error' option.

If I were a tiger, I would have lived in the forest.

If I were a tiger, I would have lived

1.

2. in

3. the forest

4. No error
Correct Option - 1

Que. 37 '3(THYUT BT fFAT GITI:

4. 3OHM
Correct Option - 2

Que. 38  Ig &7 [ Ueg T E?

1. $fAg
2. o

3. 9R9
4. QYR

Correct Option - 4
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Que. 39 Arun can do a piece of work alone in 50 days. If he works alongside Barun, the work is completed in 30 days.
In how many days can Barun do the work if he works alone?

1. 75 days
2. 100 days
3. 80 days
4. 60 days

Correct Option - 1

Que. 40 fabric from Madhya Pradesh is registered with a GI tag.
1. Pembarthi
2. Chanderi

3. Bhagalpuri
4.  Sholapuri
Correct Option - 2

Que. 41 Directions: Given below are four jumbled sentences. Select the option that gives their correct order.
A. This test is conducted on the fully automated Driving Test Track designed by Maruti Suzuki.

B. Each of these specific skills is to be tested and need to be completed successfully in under seven minutes by the
candidate.

C. It is a fully-automated track having six segments to test specific driving skills.

D. The Regional Transport Offices of Delhi have recently introduced a new driving test.

1. BADC
2. ADBC
3. DBAC
4. DACB

Correct Option - 4

Que. 42 Nimar Utsav is held in the month of Kartik on a night.
1. No moon
2. Solar eclipse
3. Full moon
4. Lunar eclipse
Correct Option - 3

Que. 43 Directions: Out of the given options, choose the one which is the correct indirect speech of the sentence
given below.

The teacher said to his students, “Did you not like my story yesterday?”
1.  The teacher asked his students if they did not like his story yesterday.
2. The teacher asked his students if they did not like his story the day before
3. The teacher asked his students if they had not liked his story the day before.
4. The teacher asked his students if they have not liked his story the day before.
Correct Option - 3

Que. 44 Two trains started from a station on parallel tracks in the same direction, at a speed of 50 km/h and 45 km/h.
The distance between the two trains after half an hour will be:

1. 500m

Page- 8



2. 25km

3. S5km

4. 2km
Correct Option - 2

Que. 45 There are 26 alphabets in English vocabulary. What is the probability of choosing a vowel from the set of

alphabets?
1. 6/26
2. 3/14
3. 26/5
4. 5/26

Correct Option - 4

Que. 46 Direction: Fill in the blank with the correct preposition.

I always prefer walking  running.
1. than
2. to
3. inplace of
4. not

Correct Option - 2

Que. 47 Direction: Select the most appropriate option to fill in the blank.
he fulfills all the conditions, he should not be given the contract.

1. Lest

2. Since

3. Whether
4, Unless

Correct Option - 4

Que. 48 FT BT dGd ¥ -

L. ger
2. e
3. Yedr
4. gy

Correct Option - 1

Que. 49 3T &1 I g MY A A D A ]2

L g™

2. g

3. 3H

4. 3{TONTHA

Correct Option - 1
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Que. 50 Who among the followings is set to become Britain's next Prime Minister?
1. Penny Mordaunt
2. Rishi Sunak
3. Boris Johnson
4. Liz Truss
Correct Option - 2

Que. 51 Identify the segment in the sentence which contains a grammatical error.
She has been a member of this club since it’s formation

this club

since it’s formation

She has been

4. amember of

Ll B

Correct Option - 2

Que. 52 Who is the author of the book, "Bravehearts of Bharat: Vignettes from Indian History?"
1. Pavan C. Lall
2. Vikram Sampath
3. Aradhana Johri
4. JJ Singh
Correct Option - 2

Que. 53 Tomb of Akbar is situated at

1. Agra
2. Allahabad
3.  Lucknow
4. Meerut

Correct Option - 1

Que.54  THTper B JHN UG B

L U o sngpa
2. YA P AHA
3. UAD AHA
4. UAY AHA

Correct Option - 4

Que. 55 Select the correct active form of the given sentence.
Social gatherings should not have been allowed by the government.
The government should not be allowed social gatherings.

The government should not have allowed social gatherings.

hadl S e

The government shall not have allowed social gatherings.
4. The government would not allow social gatherings.

Correct Option - 2
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Que. 56 What is the summation of the mean and the median of the observations?
10.5,9.5,5.5,4.5,3.5,1.5, 14

1. 125
2. 55
3. 7

4. 10

Correct Option - 1

Que. 57 Bar graph shows the number of students enrolled for a vocational course in institutes A and B during 5 years

from 2014 to 2018.

[] Institute A Institute B
'_g 30 280/, 300/ 223
§ >0 / / 250 /
g 20 225 h/ % é
g 200 ﬁf ?? 4f
4 150 % % %
‘E 100 éé :4% gé
2% %1 717

Years

The total number of students enrolled in institutes B during 2014, 2016 and 2018 is what percent of the total number of
students enrolled in institute A during the five years?

1. 49%
2. 57T%
3. 66%
4. 7%

Correct Option - 3

Que. 58 Directions : Each of the following sentences in this section has a blank space with four options. Select
whichever preposition or determiner you consider the most appropriate for the blank space and indicate your
response on the Answer Sheet accordingly.

Rahul must have received the dues now.
1. by
2. till
3. for
4. to

Correct Option - 1

Que. 59 Directions: Select the most appropriate ANTONYM of the given word.

Seize
1. Grab
2. Catch
3. Snatch
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4. Loosen
Correct Option - 4

Que. 60 India’s First-Ever ‘Integrated Aqua Park’ to be established in which of the following state?
1. Sikkim
2.  Meghalaya
3.  Manipur
4.  Arunachal Pradesh
Correct Option - 4

Que. 61 Given below are four jumbled sentences. Out of the given options pick the one that gives their correct
order.

A. As time passed, he grew jealous of his brother's fine appearance and gentle manners, and at last, he wished to destroy
him.

B. When Orlando's father, Sir Rowland de Boys, died, he left his youngest son to the care of his eldest brother Oliver.
C. Oliver however proved an unworthy brother and neglected the boy.

D. It was Oliver who persuaded his brother to wrestle with the famous man who had killed so many others in days past,
and it was this cruel brother's neglect of him that made Orlando say that he wished to die.

1. CDBA
2. BCAD
3. DCBA
4. ABCD

Correct Option - 2

Que. 62 Wwhat is the slogan of 12" Five Year Plan?
1. "Rapid Employment Generation and Inclusive Growth"
2. "Faster, Sustainable and More Inclusive Growth"
3. "Employment Generation and Sustainable Development"
4. "Inclusive and Sustainable Growth"
Correct Option - 2

Que. 63 Study the following graph and answer the question.
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(Rs. crores)

700
600
500

300
200
100

Income and Expenditure of company
XYZ during 2016 to 2020 (in Rs. crores)

=C=Income <=C=Expenditure

600
540
450 "‘fﬁ
450 (1""—"”}.;}:::” ~ 75 1450
3500—" 400 400

2016 2017 2018 2019 2020
Year

Profit = Income - Expenditure

In 2021, the income of the company over 2020 increases by the same percentage as in 2019 over its preceding year,
expenditure in 2021 increases by 20% over 2020, then the profit as a percent of income in 2021 is closest to:

28.5%
40.6%
42.8%
33.3%
Correct Option - 4

1.
2.
3.
4.

Que. 64 In the following question, out of the four alternatives, choose the alternative which best expresses the

meaning of Idiom/Phrase

Midas Touch
1. Experienced chef
2. Financially successful
3. Financially disabled
4.  Academic proficiency

Correct Option - 2

Que. 65
1. 4
2.5
3. 6
4. 7

A train 225 m long is running at a speed of 145 km/hr. What is the time (in seconds) in which it will pass a man
who starts from the engine running at the speed of 17 km/hr in the direction opposite to that of the train?

Correct Option - 2

Que. 66
1.
2
3.
4

If the ratio of the mode and median is 13 : 9, then find the ratio of the mean and mode using empirical relation.

9:8
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Correct Option - 4

Que. 67 Ffafad § 4 fpg we A R TR B2

1. 909
2. 3=yl
3. O

4. gHfq

Correct Option - 2

Que. 68 Select the INCORRECTLY spelt word.
1. Correspondence
2. Exclaimation
3. Disciplinarian
4. Miscellaneous
Correct Option - 2

Que. 69 At what price should a product worth Rs 6,000 be marked if after a discount of 10%, the seller wants to make a

profit of 20%?
1. Rs 8,000
2. Rs 7,200
3. Rs 7,500
4. Rs 6,600

Correct Option - 1

Que. 70  Tulsi Award is given in which field

1. Poetry
2. Literature
3.  Music

4. Folk arts

Correct Option - 4

Que. 71 fHfRad fadedl # 3<[g a1ad ®IF W 82
I g8 A Tar w|arg|

2. g g TH @ IR FRaT g |

3. g T 1 Ruw #Rar gl

4. g8 A TH @) 3BT 2|

Correct Option - 2

Que. 72 If 2 men and 8 women can do a piece of work in 5 days while 3 men and 4 women can do the same work in 6
days, then the time taken by 1 man and 2 women in doing the same work is

1. 18 days
2. 20 days
3. 15 days
4. 12 days
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Correct Option - 3

Que. 73  Six persons went to a hotel for a dinner. Five of them spent Rs. 150 each on their meals, while the sixth person

spent Rs. 80 more than the average expenditure of all the six persons. What is the total money spent by all the
six persons?

1. 996
2. 999
3. 1000
4. 1001

Correct Option - 1

Que. 74 fAEfiRed areRil H & Y& A1 BT I Piford-
L. 9@ Iy = 3O+ HHTE BT HTABIR GH B |
9 e = 3o HHE BT AT HIT G HR e
9 g 3 St wHTS BT DT YT g & & |
4. SO g 7 3 HATS BT IFRBT UFT S & ¢ feam

Correct Option - 1

w o

Que. 75 Nilgiri Mountain Range lies in

1. Tamil Nadu
2.  Maharashtra
3.  Orissa

4. Uttarakhand
Correct Option - 1

Que. 76 ST feHT - HRTaR 1 31 B-

1. ol R &
2. agagggéqT
3. ORIM HAT
4. THY TR URGT ST

Correct Option - 4

Que. 77 What should come in the place of the question mark ?” in the following question?
(12112 x (133113 x (11)2 x V11 = (11)? 703

1. 25
2. 3
3. 35
4. 4

Correct Option - 4

Que. 78 What is the meaning of the word ‘Mohenjo-daro’?
1. Favourite city
2. Mound of the dead
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3. Place of living
4. A market area
Correct Option - 2

Que. 79 Directions: Select the correct passive form of the given sentence.

I am learning a new language this year.
A new language is being learnt by me this year.

A new language has been learnt by me this year.

woe o

A new language was being learnt by me this year.
4. A new language is going to be learnt by me this year.
Correct Option - 1

Que. 80 The value of z is

1. 56°
2. 20°
3. 40°
4. 64°

Correct Option - 3

Que. 81 Select the correct passive form of the sentence.
We should never neglect the time which is meant for us.
The time which is meant for us never should be neglected.

The time which is meant for us should never be neglected.

W

4. The time never neglected by us which is meant for us.
Correct Option - 2

The time which is meant for us should never have been neglected.

Que. 82 ﬂ[ (P WS PV

15 1+ —2 1-—=

1-— Lr—

1+-§ 1+';
1 -T2
53 x 15
2. —62
63 x 15
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3. —67
73 x 15
4. None of these

Correct Option - 2

Que. 83 Who has been chosen the Business Standard Banker of the Year 2020-21?
1. N. S. Kannan
2. K. V.Kamath
3. Sandeep Bakhshi
4. V. Vaidyanathan
Correct Option - 3

Que. 84 The population of a town in the first year increases by 15%, and in the next year, it decreases by 10%. Once
again in the third year, it increases by 5%. If the present population is 80,000, what will be the population of the
town after 3 years?

1. 86490
2. 86940
3. 85780
4. 88750

Correct Option - 2

Que. 85 ; ; T | 2 7 5 2 ) 7
Find th tient on dividing —+ -+ -+ —-by—-+ -+ —-+1
in equ01enon1V11ng5+5+2+4y5+7_|_5_|_

1. 759
492
2. 749
492
3. 749
392
4. 769
397

Correct Option - 2

Que. 86 PP H I PH-I1 SRR R 22

|

Correct Option - 4

Que. 87 Madhya Pradesh state was constituted on
L. 1t November1959
2. 15t September 1956
3. 15'November 1956
4. 15t September 1951
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Correct Option - 3

Que. 88 "IgT EWAl b I H U A G,

TIdl T8T J Td 3R 39 HR & fam
XA HUR gRI I 37 Uil & HF-I1 SHR 72
L fRIYNT PR
2. JUAI AAPR
3. fow sicidR
4. HFEGIDHR SABR

Correct Option - 1

Que. 89 At the Turf 2022 and India Sports Awards of FICCI, who was recognized as the Para Sports Person of the Year?
1. Devendra Jhajharia
2. Sumit Antil
3. Avani Lekhara
4. Deepa Malik
Correct Option - 3

Que. 90 A circle of area of 154 cm? is inscribed inside a rhombus of side 10 ¢cm. Find the area of the rhombus?

1. 140 cm?

2. 160 cm?
3. 150 cm?
4. 180 cm?

Correct Option - 1

Que. 91 4 boys and three girls are to be seated in a row in such a way that no two boys sit adjacent to each other. In how
many different ways can it be done?

1. 504
2. 144
3. 221
4. 72

Correct Option - 2

Que. 92 How many floors does the Veer Singh Mahal in Datia have?

1. 10
2. 8
3. 9
4. 7

Correct Option - 4

Que. 93 [f the zeroes of the quadratic polynomial x%+(a+ 1)x +bare 2 and -3, then
1. a=-7,b=-1
2. a=5,b=-1
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3.
4.

a=2,b=-6
a=0,b=-6

Correct Option - 4

Que. 94 '3[ BT AH ST YGTAR BT T 3f § 2

1.
2.
3.
4.

T1qR afad

30 HAfad
THHH BRI
CREIERE R

Correct Option - 3

Que. 95 The ratio of efficiencies of A and B is 9 : 7. Working together, they can complete a certain work in 5% days. A

alone completed % part of work and B alone completed the remaining work. The total number of days in which

the entire work got completed is:

1.
2,
3.
4,

102
951

102
122

Correct Option - 3

Que. 96 Given below are four sentences in jumbled order. Pick the option that gives their correct order.

A. Her face had the most extraordinary expression of horror and amusement.

B. My mother looked up in time to see me fall.

C. But I missed and went sprawling across the kitchen floor.
D. My hand reached out to grab the handle of the door that led into the kitchen.

$ oo

4.

CBDA
DCBA
BDAC
ABCD

Correct Option - 2

Que. 97 P T IsE FHUYRY THNT BT IETE0 TSI & -

1.
2.
3.
4.

YAHHT
TfRId
TRART
HRTHT

Correct Option - 2

Que. 98 Direction: In the following question, a sentence is given in Direct/Indirect speech. Out of the four

alternatives, choose the one which best expresses the sentence in Indirect/Direct speech.

The man said that Mr. Sharma had bid the highest price for that beautiful painting.

1.
2.

The man said, "Mr. Sharma bade the highest price for this beautiful painting".
The man said, "Mr. Sharma has bid the highest price for this beautiful painting".
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3. The man told, "Mr. Sharma has bid the highest price for this beautiful painting".
4, The man said, "Mr. Sharma has bidden the highest price for this beautiful painting".
Correct Option - 2

Que. 99 1A ABC~ A QRP, :igﬁgf{; = %,AB = 18 ¢m and BC = 15 c¢m, then PR is equal to
I. 10cm
2. 12cm
20
3. ?cm
4., 8cm

Correct Option - 1

Que. 100 'Who among the following has been awarded the best actor award by Dadasaheb Phalke International Film
Festival Awards 2022?

Ranveer Singh

Varun Dhawan

W

Rajkumar Rao
4. Dhanush
Correct Option - 1

Que. 101 Job analysis provides the information that is used

1. in organization chart
2. in policy
3.  in method

4.  in promotion

Correct Option - 1

Que. 102 Which of the following metals will exhibit a photoelectric effect most easily?
1. Sodium
2. Lithium
3. Magnesium
4. Caesium
Correct Option - 4

Que. 103  Highest capacity of the storage are -
1. Terabyte
2. Yottabyte
3. Zettabyte
4. Exabyte
Correct Option - 2

Que. 104 What will be the value of the given expression if 'A' means '+, 'B' means '-, 'C' means 'x', and 'D' means '+'?
25B35A12C25D5="
45
2. 50
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3. 55
4. 40
Correct Option - 2

Que. 105 Programs stored in which of the following memories can’t be erased?
1. RAM
2. ROM
3. Cache Memory
4. Virtual Memory
Correct Option - 2

Que. 106 What is the input device used to scan a marked answer book of a multiple choice question paper?

1. OCR

2. OMR

3. MICR

4. Card reader
Correct Option - 2

Que. 107 Select the related letters from the given alternatives.
AEJ:ZVQ ::BFK:?

1. PUK
2. YZA
3. MDK
4. YUP

Correct Option - 4

Que. 108 What is the name of the operating system that reads and reacts in terms of actual time?
1. Batch system
2. Quick response system
3. Real time system
4. Time sharing system
Correct Option - 3

Que. 109  Which of the following function keys opens “Save As” dialogue box in Microsoft Word 2007?
1. F12

2. F5
3. FI0
4. F2

Correct Option - 1

Que. 110  Study the following information carefully and answer the questions based on it.
Six friends F, G, H, I, J and K are sitting in a row facing North but not necessarily in the same order. F sits fifth
to the left of G. I sits second to the left of H. One person sits between H and G. K is not an immediate neighbour of 1.

What is the position of J with respect to F?
1. Second to the right
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2. Third to the right.

3. Second to the left

4. Third to the left
Correct Option - 1

Que. 111  Select the related number from the given alternatives.

8:20::14:7
1. 20
2. 35
3. 28
4. 30

Correct Option - 2

Que. 112 The main objective of Book-keeping is to:
1. find out profit or loss
2. keep correct and complete record of business transactions
3. show the correct position of assets and liabilities
4. examine the accuracy of business transactions
Correct Option - 2

Que. 113 What does the sum total of the population of the same kind of organisms known as?

1. Kingdom
2. Class

3.  Phylum

4. Species

Correct Option - 4

Que. 114  The deleted mail in Gmail account goes in which folder?

1. Trash
2.  Spam

3. Draft

4. Receipts

Correct Option - 1

Que. 115 Two positions of a dice are shown. When 5 is at the bottom, what will be the number on the side that is at the
top?

(i) (i)
4or6
3or2

Bl o e
—_
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Correct Option - 3

Que. 116  Blue colour of the sky and the reddish appearance of the Sun at the sunrise or sunset is due to
1. Interference
2. Reflection
3. Refraction
4. Scattering
Correct Option - 4

Que. 117 Among the following, which cannot be regarded as an electrophile?

1. ZnCl,
2. AlCl

3. BF;

4 oN

Correct Option - 4

Que. 118 Which of the following keyboard shortcuts causes MS-PowerPoint 2007's "open window" to appear while a
PowerPoint presentation is being opened?

1. Ctrl+Alt+0
2. Cul+O

3. Shift+O

4. Alt+O

Correct Option - 2

Que. 119 What will come in place of "?" in the given series?
NOA, PQB, RSC, ?

1. TUD
2. TVD
3. TUE
4. TVE

Correct Option - 1

Que. 120 Find the missing term in the following series.
10, 30, 60, 100, 2, 210

1. 150
2. 170
3. 140
4. 160

Correct Option - 1

Que. 121 Ifin a certain code language 'CENTER' is written as 'DGQUGU', then how will 'TAMPER' be coded in that

language?
1. UCPQGU
2. UCQPGU

Page- 23



3. UCQPUG
4. PQGUCU
Correct Option - 1

Que. 122 A truly global economy implies a boundaryless world where there is,
1. Free flow of capital across nations
2. Free flow of goods and services across nations
3. A global governance perspective
4. All of the above
Correct Option - 4

Que. 123  Select the option that correctly represents the relationship among the following:
Driver, Son, Student

lam
(©
3. @O

Correct Option - 4

Que. 124 Which of the following is not the function of packaging?
1. Product protection
2. Pricing objectives
3. Promotion
4.  Product identification
Correct Option - 2

Que. 125 Press releases, Sponsorships, Special events and web pages are part of
1. Direct marketing
2. Advertising
3. Sales promotion
4. Public relations
Correct Option - 4
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Que. 126  Which of the following is not concerned with FW Taylor?
1. Motion Study
2. Method Study
3. Scalar chain
4. Time Study
Correct Option - 3

Que. 127 Computers were based on transistors in the generation.
1. First
2. Second
3. Third
4. Fourth

Correct Option - 2

Que. 128 Lower level management is concerned with the tactical administrative plans which are -----------
1. long range plans
2. short range plans
3.  medium range plans
4. none of these

Correct Option - 2

Que. 129  Select the number that can replace the question mark (?) in the following series.
14,29, 60, 123, ? , 505

1. 150
2. 250
3. 280
4. 305

Correct Option - 2

Que. 130 What is the unit of Impedance?

1. Ohm-meter
2. Ampere

3. Farad

4. Ohm

Correct Option - 4

Que. 131 Which of the following is not a function of Consumer Protection Councils?
1. To create awareness of consumer rights among consumers
2. To guide consumers on how to file cases in consumer courts
3. To provide compensation to consumers when they are cheated by shopkeepers
4. To represent consumers in Consumer Courts at times

Correct Option - 3

Que. 132 Phomopsis blight occurs in which of the following crops?

Page- 25



1. Brinjal

2. Bajra

3. Sugarcane
4. Potato

Correct Option - 1

Que. 133 Which of the following pair of natural sources and acid is correctly matched?
1. Tomato - Oxalic acid
2. Orange - Acetic acid
3. Nettle Sting - Lactic Acid
4. Tamarind - Methanoic acid
Correct Option - 1

Que. 134  Authority flowing from top to bottom is called -----

1. Formal authority.
2. Informal authority

3. Both

4. None

Correct Option - 1

Que. 135 is the marketing function which is concerned with informing the customers about the firm's products.
1. Trasportation
2. Selling

3. Advertising
4. Public Relations
Correct Option - 3

Que. 136 There are six members in a family. V is the only brother of X and is the father of Y. U is the mother of X. W is
the only sister of V and the only daughter of Z. How is U related to Z?

1. Wife

2.  Sister
3. Aunt

4. Mother

Correct Option - 1

Que. 137 Which of the following logical function returns TRUE if either argument is TRUE in MS Excel 365?
1. LET

2. IF
3. AND
4. OR

Correct Option - 4

Que. 138 DNA are composed only of:
1. Nucleic acid
2. Protein
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3. Lipid
4, Altogether
Correct Option - 1

Que. 139  Which of the following is a markup language?

L. HTML
2. PHP

3. Python

4. Java

Correct Option - 1

Que. 140 Which of the following commands does not belong to the 'Page Setup' menu in MS Word 20077
1. Page Color
2. Margins
3. Paper Size
4. Orientations
Correct Option - 1

Que. 141 In the following question, select the odd number pair from the given alternatives.
1. 9-72

2. 12-132
3. 10-90
4. 5-30

Correct Option - 4

Que. 142 The creation of a provision for doubtful debts is required in accordance with the:
1. consistency convention
2. going concern concept
3. realisation concept
4. conservatism convention

Correct Option - 4

Que. 143 Received Rs. 3,900 from Mr. Pintu in full settlement of Rs. 4,000. Posting of Rs. 100 will be made to the
1. Debit side of Pintu A/c
2. Credit side of Pintu A/c
3. Debit side of Discount A/c
4. Debit side of Cash A/c
Correct Option - 3

Que. 144 Principles of management are not

1. Universal
2. Flexible

3. Absolute

4. Behavioral
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Correct Option - 3

Que. 145  Select the odd letters from the given alternatives.

1. CFI
2. NQT
3. FHL
4. SVY

Correct Option - 3

Que. 146 Which of the following statements regarding system software is incorrect?
1. It provides services directly to the end user, or any other software.
2. Tt interacts directly with the hardware of the computer.
3. It provides the basic functionality for the operation of the computer.
4. Printer is a driver, not system software.
Correct Option - 4

Que. 147 In MS Excel 2010, which shortcut key is used to bold the selected text?

1. Shift + O
2. Shift+B

3. Cul+0O

4. Ctl+B

Correct Option - 4

Que. 148 In MS Word 2010, which shortcut key is used to delete one word to the right side?
1. Ctrl + Backspace
2. Alt + Backspace
3. Ctrl + Delete
4. Delete
Correct Option - 3

Que. 149 Cost and financial accounts are required to be reconciled under
1. Integral system
2. Cost control accounts system
3. Under both 1 and 2
4. Single Entry System
Correct Option - 2

Que. 150 Two statements are followed by two conclusions numbered I and II. Assuming the statements to be true even if
they do not conform to real-world knowledge, decide which of the conclusions logically follows/follow from
the statements.

Statements:

1. Some phones are instruments.
2. All instruments are devices
Conclusions:

I. All devices are instruments.
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Il. Some devices are phones.

L B

4,

Only conclusion I follows

Only conclusion II follows.

Both conclusions I and II follow

Neither conclusion I nor conclusion IT follows.

Correct Option - 2

Que. 151  Which among the following has lowest electron affinity?

1.
2.
3.
4.

Fluorine
Chlorine
Bromine
Argon

Correct Option - 4

Que. 152 Find the focal length of a convex lens of focal length 50 cm in contact with a concave lens of focal length 40

woh e

4.

cm? Also find the correct lens system?
300 cm, converging lens
200 cm, diverging lens
200 cm, converging lens
300 cm, diverging lens

Correct Option - 2

Que. 153 A student is ranked 10 from top and 315 from bottom of a class. Find the total number of students in the

4.

Lol

class.
42
40
39
41

Correct Option - 2

Que. 154 According to straight line method of providing depreciation, the depreciation
1.
2.
3.
4.

Remains constant
Increase each year
Decrease each year
None of them

Correct Option - 1

Que. 155 Large amplitude of sound vibrations will produce

1.
2.
3.
4.

Feeble sound
Shrill sound
Loud sound
Gruff sound

Correct Option - 3
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Que. 156 The L.C.M and H.C.F of two numbers are 84 and 21 respectively. If the ratio between two number is 1 : 4,
then what is the greater number?

1. 84
2. 105
3. 63
4. 85

Correct Option - 1

Que. 157 RAM stands for:
1. Readable Access Memory
2. Random Allotted Memory
3.  Random Access Memory
4. Real Action Memory
Correct Option - 3

Que. 158 Which of the following is an aldehyde?

1. Propanal
2. Propanol
3. Propine

4. Propanone
Correct Option - 1

Que. 159 Which of the following feature will help us in inserting a picture in MS Word document?

1. Image Art
2. Clip Art
3. Picture Art

4.  Graphic Art
Correct Option - 2

Que. 160 Sodium hydroxide is NOT used for
1. making soap
2. making newspapers
3. degreasing metals
4. preserving pickle
Correct Option - 4

Que. 161 Standard Cost are useful to determine the cost of a product as a -------------------- cost
1. Predetermined
2. Direct
3. Fixed

4. Historical
Correct Option - 1

Que. 162 Tomato is a natural source of which acid?

1. Acetic acid
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2. Citric acid

3. Tartaric acid

4. Oxalic acid
Correct Option - 4

Que. 163 What will be the value of the given expression if ‘A’ means ‘“+°, ‘B’ means ‘-, ‘C’ means ‘x’, and ‘D’ means

=9
50A40B10C12D2="?
1. 35
2. 20
3. 40
4. 30

Correct Option - 4

Que. 164 In the following question, select the number which can be placed at the sign of question mark (?) from the

given alternatives.

18 10
14

1. 20

2. 21

3. 22

4. 24

Correct Option - 3

Que. 165 is a monocot plant.
1. Carrot
2. Daisy
3. Garlic
4. Rose

Correct Option - 3

Que. 166 Which one of the following statements about Trial Balance is correct?
1. It is a book containing different accounts of an entity.
2. Itis a statement containing balances of debtors of an entity.
3. Itis a statement containing balances of debtors and creditors of an entity.

4. Itis a statement containing the various ledger balances of an entity on a particular date.

Correct Option - 4

Que. 167 Find the odd one out.
1. Coriander
2. Turmeric
3. Cinnamon
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4. Potato
Correct Option - 4

Que. 168 Read the given statements and conclusions carefully. Assuming that the information given in the statements is
true, even if it appears to be at variance with commonly known facts, decide which of the given conclusions
logically follow(s) from the statements.

Statements:
All woods are bottles.
All bottles are curtains.
Conclusions:
I. All curtains are bottles.
II. Some bottles are woods.
1. Only conclusion I follows
2. Only conclusion II follows
3. Either conclusion I or II follows
4. Both conclusions I and II follow
Correct Option - 2

Que. 169 In a certain code FIRE is coded DGPC. What is the last letter of the coded word for SHOT?

1. R
2. S
3. P
4. Q

Correct Option - 1

Que. 170 Which of the following describe the Management principles of Collective Interest Over Individual Interest?

1. The interest of a single person should not be allowed to compromise the organization's interests. The group
will disintegrate if someone acts alone.

2. Underpaying employees makes it difficult for businesses to retain high-caliber staff members and keep them
motivated.

3. No organization can be entirely decentralized or centralized in the modern world. People at the bottom have no
control over their tasks due to complete centralization.

4. None of the above
Correct Option - 1

Que. 171 Element having Z = 68 is related to:

1. s - block
2. p-block
3. d-block
4. f-block

Correct Option - 4

Que. 172 While cooking, if the bottom of the vessel is getting blackened on the outside, it means that:
1. The food is not cooked completely
2.  The fuel is not burning completely
3. The fuel is wet
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4. The fuel is burning completely
Correct Option - 2

Que. 173 Marketing is a process which aims at
1. Production
2. Profit-making
3. The satisfaction of customer needs
4. Selling products
Correct Option - 3

Que. 174 The sequence of folding a piece of square paper and the manner in which the folded paper has been cut is
shown in the figures. How would this paper look when unfolded?

T =0 -=n
| I 0 ]
| |
d:\ A o
3 L | I I
< EKUJ N I
I | I
1 |'L |
1 o o
O o]
Q Q
[olNe]
2. o
Q @]
@]
3 0 0
O
] o]
o] @]
4 oC 00
Q 9]
@] Q
oo oo

Correct Option - 1

Que. 175 What does the abbreviation URL stand for ?
1. Unique Resource Locator
2. Uniform Resource Locator
3. Uniform Resource Line
4.  Universal Resource Locator
Correct Option - 2

Que. 176 In a certain code ‘GLOSSY’ can be written as ‘97 53 3 2 and ‘GEOLOGY"’ can be writtenas ‘915759 2°.
How is ‘LOGS’ written in that code?

1. 7953
2. 9753
3. 7954
4. 7593
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Correct Option - 4

Que. 177 B, 1, J, T, A and D are sitting around a round table facing the centre. D is to the right of I who is opposite of T,
B is not next to J, who is to the right of T. Who is to the left of A?

bl

T

D

I
4. 7]

Correct Option - 4

Que. 178 Which of the following compounds has a triple bond?

1. C,Hg
2. CyH,
3. CyHg
4. CyHg

Correct Option - 2

Que. 179 A person is walks 4m to north direction, then he turns to his right and walks 7m. Then he turns to south
direction and walks 4m and reaches the final point.

What is the distance between initial and final point?

1. 6m
2. Tm
3. 8m
4. S5m

Correct Option - 2

Que. 180 Milk turns into curds faster in summer because
1. The growth of bacteria increases with the increase in temperature
2. The growth of bacteria increases with the decrease in temperature
3. The growth of bacteria decreases when the temperature remains normal
4.  The temperature will have no effect on the growth of bacteria

Correct Option - 1

Que. 181 In a certain code language, 'CHART" is written as "TRACH' and 'CLOSE' is written as 'ESOCL'. How will
'"WORLD' be written in the same code language?

1. DLROW
2. DLRWD
3. DLRWO
4. OLRDW

Correct Option - 3

Que. 182 Select the number from among the given options that can replace the question mark (?) in the following series.
66, 77, 90, 107, 126, ?, 178
1. 149
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2. 136

3. 154

4. 168
Correct Option - 1

Que. 183 The essential organs in a flower for reproduction are:
1. The sepal and stamen
2. The stamen and pistil
3. The sepal and petal
4. The petal and pistil
Correct Option - 2

Que. 184 Which one of the following plant tissues has dead cells?
1. Epidermis
2. Parenchyma
3. Collenchyma
4. Sclerenchyma
Correct Option - 4

Que. 185 A force increases the speed of a 1.0 kg object from 4 m/s to 8 m/s. The work done by the force will be
1. 8J

2. 32]
3. 24]
4. 161J

Correct Option - 3

Que. 186 A series is given with one term missing. Select the correct alternative from the given ones that will complete

the series.
TR, WO, ZL, ?, FF
1. DI
2. CH
3. CI
4. DJ

Correct Option - 3

Que. 187 In Windows 10, the file management application named is used by the Windows operating system to
browse folders and files.

File search

File Navigation

weoe

File browser
4. File Explorer
Correct Option - 4

Que. 188 Find the value of:
16 - (25% of (14 x 10 + 35+ 12 x 10 + 15))
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1. 11
2. 13
3. 7
4. 9

Correct Option - 2

Que. 189 This folder in Windows File Explorer is made to store all your document files which you have created and

saved in it.
1. Downloads
2. Documents
3. Recycle Bin
4. Videos

Correct Option - 2

Que. 190 The speed of light is maximum in which of the following mediums?
1. air
2. glass
3.  vacuum
4. water
Correct Option - 3

Que. 191 The number of function keys in the standard keyboard is

1. 10
2. 8

3. 11

4. 12

Correct Option - 4

Que. 192 Gargi walks 6 m towards the North. She takes a left turn and walks 3 m. She again, takes a left turn and walks
2 m. Now, she takes a right turn and walks 4 m. Then she takes a left turn and walks 4 m. She takes a last left
turn and walks 2 m. How far is Gargi from the starting point?

I. 3m
2. 4m
3. 5m
4. 6m

Correct Option - 3

Que. 193 Name the decision which affects both the profitability and the financial risk.
1. Financial planning decision
2. Capital budgeting decision
3. Capital structure decision
4.  All of the above
Correct Option - 3

Que. 194 A database used by Microsoft Windows for storing configuration information is known as:
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1. Registry
2. Record
3. Cookie
4. Cache

Correct Option - 1

Que. 195 Name the process that enables the management to foresee the fund requirements, both the quantum as well as
the timing.
Financial management

Capital budgeting decisions

Lo

Dividend decision
4. Financial planning
Correct Option - 4

Que. 196 Which of the following is incorrect with reference to plug-ins in web browsers?
1. Applications intended for use in web browsers
2. Plug-ins are like ActiveX controls.
3. Plug-ins can be executed outside the web browser.
4. Adobe Flash is an example of an application that is available as a plug-in.

Correct Option - 3

Que. 197 Ifa:b=7:9andb:c=25:7, then find the value of a : ¢?

1. 5:9
2. 3:5
3. 7:21
4, 7:15

Correct Option - 1

Que. 198 Which of the following polymer is used to make Bullet proof glass?

1. Glyptal
2. PMMA

3. Teflon

4. None

Correct Option - 2

Que. 199 Two numbers are such that they are 40% and 50% of the third number. First number as a percentage of the

second is
1. 80%
2. 40%
3. 25%
4. 47%

Correct Option - 1

Que. 200 During which stage of mitosis the spindle fibers are formed & get attached to the chromosomes?
1. Metaphase
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2.  Anaphase

3. Prophase

4. Telophase
Correct Option - 1
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